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K Z] 10:05 10:10 9:35 10:11 10:10 10:32 10:40 10:40 10:14 58 11:19 9:51 10:00 10:05 R /KBTI
ESH 2Y Eh Eh Eh Eh Eh Eh Eh IS5 551 Eh Eh Eh ES
g (°C) 242 318 8.9 15.8 25.0 28.7 333 33.2 17.2 10.9 8.9 1.5 5.9 10.2 [0 (C) 26.6
KE (C) 220 28.1 1.3 14.3 18.8 2138 26.5 28.0 206 17.2 13.9 8.6 10.0 11.0 Kim (°C) 16.1
1 [—fRHAEE 100{E LL T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1]1,3->20070~>(D-D) | 0.05 R Al <0.0001
APNCIE wEhAncs] Tl THEH| FHEH| Tl [ B[ RBEC | BEC) [ BEO) [ B | B | BEC) [ BEC) | B | B | B | BE() 2[2,2-DPA(4 7% ) 0.08 IREA <0.002
3[ARIHLRUVZDILEY 0.003LLF] <0.0003] <0.0003] <0.0003] <0.0003 <0.0003 3[2,4-D(2,4-PA) 0.02 EEx] <0.0002
4|KEBRVZDILEY 0.0005A ] <0.00005] <0.00005] <0.00005| <0.00005 <0.00005 4|EPN 0.004 & BF| <0.00005
5| LY RUZDILEY 001LLF[]  <0.001 <0.001 <0.001 <0.001 <0.001 5[MCPA 0.005 EEx] <0.0001
6|SARUEZDILEY 0.01UTF]  <0.001 <0.001 <0.001 <0.001 <0.001 6|7 154 0.9 R EH <0.002
1ERRUVZDILEY 0.01LF <0.001 <0.001 <0.001 <0.001 <0.001 1|7E7x—F 0.006 - REA <0.0002
| s[AMEvOLIEED 002LLF|  <0002|  <0.002] <0002  <0.002 <0.002 <0.002 <0.002 <0.002 8|7r5oY 0.01 IREA <0.0001
RS 004L I F| <0004[ <0004] <0004] <0.004 <0.004 9[7=Rk”R 0.003 BREF <0.00005
10| TALIAA L RUIEILS T 0.01UTF] <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 10[7SF5X 0.006 & RF| <0.00015
| EREERRUEHBEESR 10LLF 0.48 0.47 0.74 0.86 0.26 1[7528—1L 0.03 EEx] <0.0003
12| 7vHRRUVZDILEY 0.8LLF 0.08 0.09 0.09 0.09 0.08 12[4VFHF4> 0.005 & RF| <0.00005
13| [FXRRUVZDILEY 10T <01 <01 <01 <01 0.03 13[4k R 0.001 BEA <0.00004
RAEEER A ES 0.002L4F] <0.0002] <0.0002] <0.0002| <0.0002 <0.0002 14|47 AHILF (MIPC) 0.01 R <0.0001
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17[oonnr8y 002LIF| <0002[ <0002 <0002] <0.002 <0.001 17[13/55852 0.006 Bk EA <0.001
18|FFSH/O00TFLY 0.01UTF]  <0.001 <0.001 <0.001 <0.001 <0.0005 18|15 /77 0.009 R EH <0.00009

# [19[kyyoBIFLY 001LLF[]  <0.001 <0.001 <0.001 <0.001 <0.001 19[T2TOALT 0.03 EEx] <0.0003
20[RPY 001LLF|  <0.001 <0.001 <0.001 <0.001 <0.001 20|Troz>TavHR 0.08 R REA <0.0008
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22|/ O OFFEE 002LLF|  <0002| <0.002] <0002  <0.002 <0.002 <0.002 <0.002 <0.002 2[AFHTHaARY 0.02 R EH <0.0002

s |-28/Z007dLL 0.06 AT 0.017 0.013 0.008 0.009 0.015 0.018 0.010 0.008 23|42 SR HSR) 0.03 Bk EA <0.0005
24| HOOEFER 003LLF|  <0002[ <0.002] <0002  <0.002 <0.002 <0.002 <0.002 <0.002 24[AYHRbAEY 0.1 R -REA <0.001

| 25[CTnEH/OOARY 01LLTF 0.006 0.006 0.004 0.004 0.007 0.007 0.006 0.005 25| hZXH KR 0.0006 R A <0.00004
EEEES 0.01ATF]  <0.001 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 26| h7T RFA—L 0.008 R BB <0.00008
BRI 01LLTF 0.033 0.029 0.019 0.020 0.032 0.037 0.025 0.021 27| hnsv7 0.08 B - REA -

B | 28[rUpnOmEE 003LLF|  <0003[ <0003 <0.003]  <0.003 <0.002 <0.002 <0.002 <0.002 28[5JL/3JJL(NAC) 0.02 & RF <0.0002
29|70EDHAAALY 0.03LLF 0.008 0.008 0.006 0.006 0.009 0.010 0.008 0.007 29[ hL KI5 0.005 ) <0.0001
30| JOERILL 0.09UTF 0.002 0.002 0.001 0.001 0.001 0.002 0.001 0.001 30[F /5535 (ACN) 0.005 REH <0.00005

| 31[/RILLTILTER 008LIF| <0008[ <0.008] <0.008] <0.008 <0.002 <0.002 <0.002 <0.002 31|F v T 0.3 BEA <0.003

B | 32[&ERRUZDIEEY 1.0 F <0.005 <0.005 <0.005 <0.005 <0.005 32[730 0.03 BREH <0.0003
33[FIE=VLRUVZDILEY 02LLF 0.02 0.02 <0.01 0.02 <0.02 33[F kY —h 2 FREF <0.02

| 34[BRUZDILEY 03T <0.03 <0.03 <0.03 <0.03 <0.03 34| T LIRS R —hk 0.02 BREE - MR EREE -
35[HHBRVZDILEY 1.0LTF <0.01 <0.01 <0.01 <0.01 <0.01 35|o0270v7 0.02 EEx] <0.0002
36| TRV LRUZDILEN 200L4F 244 30.7 27.3 204 253 36[~0/L=FO071 (CNP) 0.0001 BREH <0.0001
37| AV RUZDIEEY 005LLF[]  <0.001 <0.001 <0.001 <0.001 <0.005 37|ZBILEYRR 0.003 R A <0.00005
38|IELYAA> 2000 F 16.0 195 16.5 15.2 18.8 16.2 185 17.6 17.1 18.2 13.2 14.4 16.4 16.1 15.6 15.3 38|ZO0O%0=)L(TPN) 0.05 R -REA <0.0005
9[AIS oL, XTI LE (FE) 300LLF 91 115 123 102 104 99.9 107 107 P[LTFTFIY 0.001 FRE A <0.00005
| 40[ZAFIZEY) 500LL T 240 260 250 200 226 216 208 217 40[> 7 /7RR (CYAP) 0.003 & RF <0.00004
41 (R AA REEHH] 0.2L1F <0.02 <0.02 <0.02 <0.02 <0.02 41]>0> (DCMU) 0.02 EEx] <0.0002
2|z RIY 0.00001 14| <0.000001 | <0.000001 [ <0.000001] <0.000001 <0.000001 <0.000001 | <0.000001 42|50 ~=)L (DBN) 0.03 REH <0.0001
43[2-AFIAVRILRF—)IL 0.00001 14| <0.000001 | <0.000001 [ <0.000001[ <0.000001 <0.000001] <0.000001] <0.000001 432~ 0)LARZ (DDVP) 0.008 R A <0.00008
44| JE A A R EER] 0.02LLF <0.005 <0.005 <0.005 <0.005 <0.002 44|29 79k 0.01 BREH <0.001
450 /—VEE 0.005LLF]  <0.0005] <0.0005] <0.0005] <0.0005 <0.0005 45| S RIVIRA TFLFAAY) 0.004 R A <0.00004

46| HHEMETOC) LT 038 0.6 05 0.9 0.7 038 0.8 0.9 0.7 038 09 07 06 07 09 09 46|CFA R NFA—+ZEE | 0005 R -
47|pH{E 581 F86LITF 7.6 7.6 75 75 7.6 7.5 78 7.7 78 78 7.6 7.6 75 7.6 75 75 41[SFAEIL 0.009 IREH <0.00009
| 48[k EEchuncd] BEEhL| EEAL] BE4L] BEEUL] BEEgl| EE4l] EE4l] BE4L] BEE4L]| BE4lL]| BE4lL] EX4L] BEEUL] BEE4L| EEAL] BE4L 48> N\ARyTITFIL 0.006 BREH <0.00006
| 49[RK EEThnid] EEgL] ERgl] BEal| BEAL] EE4L] EELL] EEglL] EEgL] BE4L] BEAL] BEEAL] EEUL] ERE4L] ERgL] BEA4L] BEAL 2 [Ta9[> =T (can) 0.003 IREA <0.00004
| 50[ B FE SELLT < < < < A A < < A A 4l 4l 4l 4l 4l 4l 50[SABARY Y 0.02 BREH <0.0002
51 8E 2EUT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 51[SART—F 0.05 BRAl <0.0005
S I IPZP 0.03 IREH <0.0003
B 4Z1E (mg/L) 53| CAERL—F Ak IREH <0.00004
UZVFELRUVEZDILEY 0.02LIF[ <0.0015[ <0.0015] <0.0015] <0.0015 54|FATS/Y 0.003 - FREA <0.00004
2|95 RUZDIEEY 0002l F(+2)]  <0.002[ <0.0002] <0.0002] <0.0002 485 [ 55 gzer\np . 0.8 R REA <0.008
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3| =wr LRUZDEEY 002 F|]  <0001] <0001 <0001|  <0.001 <0.001 56 xawl,fr':ﬁf-;rb%};—b 001 | A, BA). B HEH -
A 57|F 7= 0.1 B EA <0.001
5/1.2-2/00I8 0.004LLF| <0.0004] <0.0004] <0.0004| <0.0004 58|F 95 L 0.02 - FREA <0.00025

X |6l & 59| FASHILT 0.08 R A <0.0008

1R & 60| FAT7 R —FAFIL 0.3 B R EE <0.003

" s|bLTY 0.4L1F <0.04 <0.04 <0.04 <0.04 61| FAR AT 0.02 IREH <0.0002

| 9[TRILEED (2-TFIAFIIL) 008LIF| <0008[ <0008 <0.008]  <0.008 62[TTYILRYAY 0.002 EE <0.0001

& | 10[FHIEHRE 0.6LLTF <0.06 <0.06 <0.06 <0.06 63|7 /LI A)LT (MBPMC) 0.02 IREH <0.0002
1R & 64|k HBEIL 0.006 BB <0.003

m | 12| EREiER 0.6LLF - - - - 65[k!)~ 0Lk (DEP) 0.005 B <0.00005
13[yaa7er=k)JL 001 Fx2)|  <0.001 <0.001 <0.001 <0.001 <0.001 66[F)S 55 =)L 0.1 | B -BE EHREARA <0.001

g |aliaksns5—n 002 F2)|  <0.002]  <0.002[  <0.002]  <0.002 0.001 67[F)TILSUY 0.06 R B <0.0006

BHEES: 1T <0.01 - - - 68|77 0/83F 0.03 BREH <0.0003
= |18 RRIER 1UF 0.7 0.8 0.6 0.6 0.54 0.56 0.50 0.56 0.60 0.64 0.54 0.58 0.54 0.54 0.54 0.50 69][/352—F 0.005 TREA -

T ABS DL, TR LE BE) 10~100 91 115 123 102 104 99.9 107 107 70[ERBERR 0.0009 BREH <0.00005

N 18| VAV RUZDILEY 001LLF[|  <0.001 <0.001 <0.001 <0.001 <0.005 71]E59n=)L 0.01 IREH <0.001

B | o[ R 208U F 4 7 12 11 72|E5V XTIy 0.004 BREH <0.00004
20|1.11-p) YOOI A 0.3LLF <0.03 <0.03 <0.03 <0.03 73|[ESVR—NET/ LD 0.02 IREH <0.0002

B | 21[AFLt-TFILT—F)L (MTBE) 0.02LLF|  <0002[ <0.002] <0002  <0.002 74|EVE I FAY 0.002 3 | <0.00005
22| 5 Y% (KMnO4GHEE) (* 3) LT - - - - 0.7 0.8 0.8 0.9 0.7 0.8 0.9 0.7 0.6 0.7 0.9 0.9 75|EYTFhILT 0.002 3] <0.0002

H | 23| R%5HE (TON) 3UTF < < < < < 76|En¥AY 0.05 - SRR <0.0004

| 24| FIXERY 30~200LLF 240 260 250 200 226 216 208 217 77|2470=)L 0.0005 BR-SREH <0.000025

B | 25|88 1EUT <0.1 <01 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 78| 7z =FOFF> (MEP) 001 | #h-%E-WEWRKEHEZA | <0.00004
26 |pHIE 7.5%2 1.6 1.6 1.5 1.5 1.6 7.5 7.8 7.7 7.8 7.8 1.6 7.6 75 7.6 75 75 79]|2x/7hJL T (BPMC) 0.03 B A <0.0003

| 27| BEE (G T7IER —1~0 - 06 - 04 - 0.6 - 07 - 02 807U LY 0.05 B E A <0.001
28|t EEME (HPC) 2000ELF 0 0 0 0 1 817 FA > (MPP) 0.006 BRA] <0.0006
29[1,1->/00IFL Y 01T <0.01 <0.01 <0.01 <0.01 <0.001 82| 7z FI—F(PAP) 0.007 - A <0.00007
30[ZIZ=VLRUZDILEY 0.1LLF 0.02 0.02 <0.01 0.02 <0.02 83|72 FSHER 0.01 EEx] <0.0001
31[PFOSKRUPFOA(* 4) 0.00005 4 T (x2) - - - - 0.000007 84|7H954K 0.1 - REA <0.001
* 1 FREREKERBREFKGEHEAODKRERLEEER 85|J%80—)L 0.03 3] <0.0003
*2:8E 86[I237KR 0.02 BB <0.0002

* 3: EHETE B #46(TOC)TH A 87(77@2xVY 0.02 B SR EA <0.0002

* 4:PFOS(RILIINLABFIEY RILHRVE) RUPFOA(RILI LA O S5 E) 88[IINTTHL 0.03 BEH <0.0003
101[RUFaABYY 03 BB iR R A <0.003

102| RV IS5ANT 0.04 B E A <0.0004

103[RUTILSYU(NARYY) 0.01 3] <0.0001

104|R>TLtE—F 0.07 EEx <0.0007

105[/RRFF7E—h 0.003 5 | <0.00004

106 5FAY (R5VY) 0.7 R Al <0.0005

107|270y 0.05 3] <0.0005

108[ A3 )L 0.03 R Al <0.0003

109[A85F L 0.2 - AR <0.0006

110[AFH F7~ (DMTP) 0.004 R Al <0.00004

111[AFS/RFAEY 0.04 - EA <0.0004

112[ARIT O 0.03 EEx] <0.0003

113[ A7z F vk 0.02 3] <0.0002

114[A70=)L 0.1 R REH <0.001

115 EYR—F 0.005 REH <0.00005




